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A8. Simple Logarithmic Equations  

Solve the following equations  

A8.1     log x (49) = 2 

• x2 = 49 

• x = 7 or x = – 7  

• x cannot be negative 

• x = 7 

A8.2     log x (64) = 2 

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.3     log x (16) = 2 

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.4     log x (8) = 3 

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.5     log x (64) = 3 

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.6     log x (32) = 5 

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.7     log 2 (x) = 5 

• 25 = x 

• x = 32 

A8.8     log 5 (x) = 2 

--------------------------------

-------------------------------- 

A8.9     log 7 (x) = 0 

--------------------------------

-------------------------------- 

A8.10   log 5 (x) − 2 = 0 

• log 5 (x) = 2  

• 52 = x 

• x = 25 

A8.11   log 3 (x) − 4 = 0 

--------------------------------

--------------------------------

-------------------------------- 

A8.12   log 2 (x) + 1 = 0 

--------------------------------

--------------------------------

-------------------------------- 

A8.13   log 3 (2x – 1) = 2  

• 2x – 1 = 32 

• 2x – 1 = 9 

• 2x = 10 

• x = 5                 

A8.14   log 5 (3x – 1) = 3  

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.15   log 7 (5m + 4) = 2  

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.16   log 5 (2n – 1) = 1  

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.17   log 2 (5n +2)= – 1   

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 

A8.18   log 2 (5y +1)= – 3   

--------------------------------

--------------------------------

--------------------------------

-------------------------------- 
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A8. Simple Logarithmic Equations. Solutions  

Solve the following equations  

A8.1     log x (49) = 2 

• x2 = 49 

• x = 7 or x = – 7  

• x cannot be negative 

• x = 7 

A8.2     log x (64) = 2 

• x2 = 64 

• x = 8 or x = – 8  

• x cannot be negative 

• x = 8 

A8.3     log x (16) = 2 

• x2 = 16 

• x = 4 or x = – 4  

• x cannot be negative 

• x = 4 

A8.4     log x (8) = 3 

• x3 = 8 

• x = √8
3

 = 2 

 

A8.5     log x (64) = 3 

•  x3 = 64 

• x = √64
3

 = 4 

 

A8.6     log x (32) = 5 

• x5 = 32 

• x = √32
5

 = 2 

 

A8.7     log 2 (x) = 5 

• 25 = x 

• x = 32 

A8.8     log 5 (x) = 2 

• 52 = x 

• x = 25 

A8.9     log 7 (x) = 0 

• 70 = x 

• x = 1 

A8.10   log 5 (x) − 2 = 0 

• log 5 (x) = 2  

• 52 = x 

• x = 25 

A8.11   log 3 (x) − 4 = 0 

• log 3 (x) = 4  

• 34 = x 

• x = 81 

A8.12   log 2 (x) + 1 = 0 

• log 2 (x) = – 1   

• 2 -1   = x 

• x = 0.5 

A8.13   log 3 (2x – 1) = 2  

• 2x – 1 = 32 

• 2x – 1 = 9 

• 2x = 10 

• x = 5 

A8.14   log 5 (3x – 1) = 3  

• 3x – 1 = 53 

• 3x – 1 = 125 

• 3x = 126 

• x = 42 

A8.15   log 7 (5m + 4) = 2  

• 5m + 4 = 72 

• 5m + 4 = 49 

• 5m = 45 

• m = 9  

A8.16   log 5 (2n – 1) = 1  

• 2n – 1 = 51 

• 2n – 1 = 5 

• 2n = 6 

• n = 3                 

 

A8.17   log 2 (5n +2)= – 1   

• 5n + 2 =2 – 1    

• 5n + 2 = 0.5 

• 5n = - 1.5  

• n = - 0.3                  

 

A8.18   log 2 (5y +1)= – 3   

• 5y + 1 =2 – 3    

• 5y + 1 = 0.125 

• 5y = - 0.875   

• y = - 0.175                  
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M7. Solving Logarithmic Equations   
Solve the problems below.  

M7.1 Find the value of  𝑙𝑜𝑔215 

• Let 𝑙𝑜𝑔215 = 𝑥 

• 2𝑥=15 

• 𝑙𝑜𝑔[2𝑥] = 𝑙𝑜𝑔15 

• 𝑥𝑙𝑜𝑔2 = 𝑙𝑜𝑔15 

• 𝑥 =
𝑙𝑜𝑔15

𝑙𝑜𝑔2
 

M7.2 Find the value of  𝑙𝑜𝑔325 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

 

M7.3 Find the value of 𝑙𝑜𝑔535 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

 

M7.4 Find the value of 𝑙𝑜𝑔1

2

[8] 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

 

M7.5   Solve:   𝑙𝑜𝑔𝑥[𝑥2 + 2𝑥 − 8] = 2 

• 𝑥2 + 2𝑥 − 8 = 𝑥2 

• 𝑥2 + 2𝑥 − 8 − 𝑥2 = 0 

• 2𝑥 − 8 = 0 

• 2𝑥 = 8 , 𝑥 = 4 

 

M7.6   Solve:    𝑙𝑜𝑔𝑥[𝑥2 + 𝑥 − 7] = 2 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

M/E7.7    𝑙𝑜𝑔𝑥[2𝑥2 + 𝑥 − 6] = 2 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

M/E7.8    𝑙𝑜𝑔𝑥[3𝑥2 − 5𝑥 − 12] = 2 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

M7.9    𝑙𝑜𝑔𝑥[2𝑥2 − 5𝑥 + 6] = 2 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

 

M/E7.10    𝑙𝑜𝑔𝑥[𝑥2 − 4𝑥 + 4] = 1 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 
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M7. Solving Logarithmic Equations. Solutions   
Solve the problems below. 

M7.1 Find the value of  𝑙𝑜𝑔215 

• Let 𝑙𝑜𝑔215 = 𝑥 

• 2𝑥=15 

• 𝑙𝑜𝑔[2𝑥] = 𝑙𝑜𝑔15 

• 𝑥𝑙𝑜𝑔2 = 𝑙𝑜𝑔15 

• 𝑥 =
𝑙𝑜𝑔15

𝑙𝑜𝑔2
= 3.9069(4𝑑𝑝) 

M7.2 Find the value of  𝑙𝑜𝑔325 

• Let 𝑙𝑜𝑔325 = 𝑥 

• 3𝑥=25 

• 𝑙𝑜𝑔[3𝑥] = 𝑙𝑜𝑔25 

• 𝑥𝑙𝑜𝑔3 = 𝑙𝑜𝑔25 

• 𝑥 =
𝑙𝑜𝑔25

𝑙𝑜𝑔3
= 2.9299 (4𝑑𝑝) 

M7.3 Find the value of 𝑙𝑜𝑔535 

• Let 𝑙𝑜𝑔535 = 𝑥 

• 5𝑥=35 

• 𝑙𝑜𝑔[5𝑥] = 𝑙𝑜𝑔35 

• 𝑥𝑙𝑜𝑔5 = 𝑙𝑜𝑔35 

• 𝑥 =
𝑙𝑜𝑔35

𝑙𝑜𝑔5
= 2.2091(4𝑑𝑝) 

M7.4 Find the value of 𝑙𝑜𝑔1

2

[8] 

• Let 𝑙𝑜𝑔1

2

[8] = 𝑥 

• [
1

2
]

𝑥
=8 

• 𝑙𝑜𝑔 [(
1

2
)

𝑥
] = 𝑙𝑜𝑔8 

• 𝑥𝑙𝑜𝑔 (
1

2
) = 𝑙𝑜𝑔8 

• 𝑥 =
𝑙𝑜𝑔8

𝑙𝑜𝑔(
1

2
)

= −3 

M7.5  Solve:   𝑙𝑜𝑔𝑥[𝑥2 + 2𝑥 − 8] = 2 

• 𝑥2 + 2𝑥 − 8 = 𝑥2 

• 𝑥2 + 2𝑥 − 8 − 𝑥2 = 0 

• 2𝑥 − 8 = 0 

• 2𝑥 = 8 , 𝑥 = 4 

M7.6  Solve:    𝑙𝑜𝑔𝑥[𝑥2 + 𝑥 − 7] = 2 

• 𝑥2 + 𝑥 − 7 = 𝑥2 

• 𝑥2 + 𝑥 − 7 − 𝑥2 = 0 

• 𝑥 − 7 = 0 

•  𝑥 = 7 

M/E7.7    𝑙𝑜𝑔𝑥[2𝑥2 + 𝑥 − 6] = 2 

• 2𝑥2 + 𝑥 − 6 = 𝑥2 

• 2𝑥2 + 𝑥 − 6 − 𝑥2 = 0 

• 𝑥2 + 𝑥 − 6 = 0 

•  𝑥 = 2 𝑜𝑟 𝑥 =  −3 

• Cannot be negative, so 𝑥 = 2 

M/E7.8    𝑙𝑜𝑔𝑥[3𝑥2 − 5𝑥 − 12] = 2 

• 3𝑥2 − 5𝑥 − 12 = 𝑥2 

• 3𝑥2 − 5𝑥 − 12 − 𝑥2 = 0 

• 2𝑥2 − 5𝑥 − 12 = 0 

•  𝑥 = 4 𝑜𝑟 𝑥 =  −1.5 

• Cannot be negative, so 𝑥 = 4 

M7.9    𝑙𝑜𝑔𝑥[2𝑥2 − 5𝑥 + 6] = 2 

• 2𝑥2 − 5𝑥 + 6 = 𝑥2 

• 2𝑥2 − 5𝑥 + 6 − 𝑥2 = 0 

• 𝑥2 − 5𝑥 + 6 = 0 

•  𝑥 = 2 𝑜𝑟 𝑥 =  3 

• Both answers are valid 

M/E7.10    𝑙𝑜𝑔𝑥[𝑥2 − 4𝑥 + 4] = 1 

• 𝑥2 − 4𝑥 + 4 = 𝑥 

• 𝑥2 − 4𝑥 + 4 − 𝑥 = 0 

• 𝑥2 − 5𝑥 + 4 = 0 

•  𝑥 = 1 𝑜𝑟 𝑥 =  4 

• Base cannot be 1, so 𝑥 =  4 
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E9. Using Quadratic Formula. Worksheet 3 

𝐴𝑛𝑠𝑤𝑒𝑟 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛𝑠 𝑏𝑒𝑙𝑜𝑤.  

E9.1   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 3𝑥2 − 5𝑥 + 𝑞 = 0 

• 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 → 

• 𝑎 = 3, 𝑏 = −5, 𝑐 = 𝑞 

• 𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
=

5±√52−4×3×𝑞

2×3
  

• 𝑥 =
5±√25−12𝑞

6
 

•  𝑥1 =
5+√25−12𝑞

6
, → 𝑥1

2 = [
5+√25−12𝑞

6
]

2

 

• 𝑥2 =
5−√25−12𝑞

6
, → 𝑥2

2 = [
5−√25−12𝑞

6
]

2

 

• 𝑥1
2 =

52+2×5×√25−12𝑞 +25−12𝑞

36
 →  

• 𝑥1
2 =

50+10√25−12𝑞 −12𝑞

36
 

• 𝑥2
2 =

52−2×5×√25−12𝑞 +25−12𝑞

36
 → 

• 𝑥2
2 =

50−10√25−12𝑞 −12𝑞

36
 

• 𝑥1
2 + 𝑥2

2 =
100−24𝑞

36
=

25−6𝑞

9
 

E9.2   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 5𝑥2 − 4𝑥 + 𝑞 = 0 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

E9.3   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑘  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 5𝑥2 − 𝑘𝑥 + 1 = 0 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 

E9.4   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑐𝑢𝑏𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑥2 − 4𝑥 + 𝑞 = 0  
𝐻𝑖𝑛𝑡: 𝑚3 + 𝑛3 = (𝑚 + 𝑛)(𝑚2 − 𝑚𝑛 + 𝑛2) 

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

-------------------------------------------------

------------------------------------------------- 
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E9. Using Quadratic Formula. Worksheet 3. Solutions  

𝐴𝑛𝑠𝑤𝑒𝑟 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛𝑠 𝑏𝑒𝑙𝑜𝑤.  

E9.1   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 3𝑥2 − 5𝑥 + 𝑞 = 0 
• 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 →    𝑎 = 3, 𝑏 = −5, 𝑐 = 𝑞 

• 𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
=

5±√52−4×3×𝑞

2×3
  

• 𝑥 =
5±√25−12𝑞

6
 

•  𝑥1 =
5+√25−12𝑞

6
, → 𝑥1

2 = [
5+√25−12𝑞

6
]

2

 

• 𝑥2 =
5−√25−12𝑞

6
, → 𝑥2

2 = [
5−√25−12𝑞

6
]

2

 

• 𝑥1
2 =

52+2×5×√25−12𝑞 +25−12𝑞

36
 →  

• 𝑥1
2 =

50+10√25−12𝑞 −12𝑞

36
 

• 𝑥2
2 =

52−2×5×√25−12𝑞 +25−12𝑞

36
 → 

• 𝑥2
2 =

50−10√25−12𝑞 −12𝑞

36
 

• 𝑥1
2 + 𝑥2

2 =
100−24𝑞

36
=

25−6𝑞

9
 

E9.2   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 5𝑥2 − 4𝑥 + 𝑞 = 0 
• 𝑥2 + 𝑏𝑥 + 𝑐 = 0 →    𝑎 =, 𝑏 = −4, 𝑐 = 𝑞 

• 𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
=

4±√42−4×5×𝑞

2×5
  

• 𝑥 =
4±√16−20𝑞

10
 

•  𝑥1 =
4+√16−20𝑞

10
, → 𝑥1

2 = [
4+√16−20𝑞

10
]

2

 

• 𝑥2 =
4−√16−20𝑞

10
, → 𝑥2

2 = [
4−√16−20𝑞

10
]

2

 

• 𝑥1
2 =

42+2×4×√16−20𝑞 +16−20𝑞

100
 →  

• 𝑥1
2 =

32+8√16−20𝑞 −20𝑞

100
 

• 𝑥2
2 =

42−2×4×√16−20𝑞 +16−20𝑞

100
 → 

• 𝑥2
2 =

32−8√16−20𝑞 −20𝑞

100
 

• 𝑥1
2 + 𝑥2

2 =
64−40𝑞

100
=

16−10𝑞

25
 

E9.3   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑘  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 5𝑥2 − 𝑘𝑥 + 1 = 0 
• 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 →  𝑎 = 5, 𝑏 = −𝑘, 𝑐 = 1 

• 𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
=

𝑘±√𝑘2−4×5×1

2×5
  

• 𝑥 =
𝑘±√𝑘2−20

10
 

• 𝑥1 =
𝑘+√𝑘2−20

10
, → 𝑥1

2 = [
𝑘+√𝑘2−20

10
]

2

 

• 𝑥2 =
𝑘−√𝑘2−20

10
, → 𝑥2

2 = [
𝑘−√𝑘2−20

10
]

2

 

• 𝑥1
2 =

𝑘2+2×𝑘×√𝑘2−20 +𝑘2−20

100
 →  

• 𝑥1
2 =

2𝑘2+2𝑘√𝑘2−20 −20

100
   

• 𝑥2
2 =

2𝑘2−2𝑘√𝑘2−20 −20

100
 

• 𝑥1
2 + 𝑥2

2 =
4𝑘2−40

100
  =

𝑘2−10

25
 

E9.4   𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑞  
𝑓𝑜𝑟 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑜𝑓 𝑐𝑢𝑏𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠 

𝑜𝑓 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑥2 − 4𝑥 + 𝑞 = 0 

𝐻𝑖𝑛𝑡: 𝑚3 + 𝑛3 = (𝑚 + 𝑛)(𝑚2 − 𝑚𝑛 + 𝑛2) 

• 𝐿𝑒𝑡 𝑚 𝑎𝑛𝑑 𝑛 𝑎𝑟𝑒 𝑡ℎ𝑒 𝑟𝑜𝑜𝑡𝑠  

• (𝑥 − 𝑚)(𝑥 − 𝑛) = 0 

• 𝑥2 − 𝑚𝑥 − 𝑛𝑥 + 𝑚𝑛 = 0 

• 𝑥2 − (𝑚 + 𝑛)𝑥 + 𝑚𝑛 = 0 

• 𝑥2 − 4𝑥 + 𝑞 = 0, →  

• 𝑚 + 𝑛 = 4  𝑎𝑛𝑑  𝑚𝑛 = 𝑞 

• 𝑚3 + 𝑛3 = (𝑚 + 𝑛)(𝑚2 − 𝑚𝑛 + 𝑛2) 

• 𝑚3 + 𝑛3 = (𝑚 + 𝑛)[(𝑚 + 𝑛)2 − 3𝑚𝑛] 

• 𝑚3 + 𝑛3 = 4(42 − 3𝑞) = 64 − 12𝑞 
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